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Explanations and answers to select questions

05 Option (B) is the correct answer. The correct spelling is ‘Duchess’.

07 Answer (D) : ‘Far’ is the only correct answer. The correct irreversible word pair is ‘Far and wide’.
What you find on a Google search is not necessarily true, correct and/or authentic.

08 Option (B) is the correct answer. Its homophone is ‘Stalk’.
12 Option (C) is the correct answer. The 5 syllables are : Ex-am-i-na-tion.

15 Option (B) is the correct answer. The animals are mentioned as ‘wild and free’ and so cannot be
in homes, stables and zoos.

17 Option (B) is the correct answer. Only ‘herbivores’ provides a parrallel comparison to ‘carnivores’.

23 Option (D) is the correct answer. The speaker refers to a specific bus, one for which they were
waiting, so ‘The’ for the first blank. For the second blank, the single syllable word ‘half’ produces
a consonant sound as in ‘hard’, so article ‘a’; and for the third blank ‘an’, as the single syllable word
‘hour’ produces a vowel sound as in ‘our’.

25 Option (D) is the correct answer. RQPS would read as : The stream wasn’t very big but it was deep.

28 Option (C) is the correct answer. The question asks how many friends Sarah went ‘with’, which
means those other than Sarah. The three friends were : Rosy, Jenny and Tom.

30 Option (C) is the correct answer. Please refer to the sentence, ‘She loved the feeling . . . when
pushed by Rosy in turn. The idiom ‘in turn’ used therein means, ‘one after the other in a particular
order’, so it is obvious that Rosy did.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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